

| Description |  | Qtty | Price             |    | Total      |
|-------------|--|------|-------------------|----|------------|
|             | Club & Lounge Chairs - London - Cranleigh Club Chair<br>31"W x 31"L x 34"H   | 4    | \$200.00          | Т  | \$800.00   |
| ,           | Club & Lounge Chairs - London - Concord Club Chair<br>34"W x 36"L x 35"H   | 4    | \$200.00          | Т  | \$800.00   |
| -           |  |      | Total Entrance Ro | om | \$9,200.00 |
| Middle Room |  |      |                   |    |            |
|             | Drape Stock In Emerald Green to Create 2 smaller<br>Pullbacks<br>6' wide x 12'H X2   | 1    | \$200.00          | Т  | \$800.00   |
|             | Console Tables - Oslo - Zebra Wood<br>For Middle Room , IN between sofas<br>59"Wx 15.75"D x 34"H   | 1    | \$180.00          | Т  | \$540.00   |
|             | Sofas - London - Chesterfield 02<br>86"W x 40"L x 31"h   | 2    | \$400.00          | Т  | \$2,400.00 |
|             | Coffee Tables - Fiji - Wood & Brass<br>(2 max)<br>52" W x 32"D x 16"H  | 2    | \$250.00          | Т  | \$1,500.00 |
|             | Club & Lounge Chairs - London - Cranleigh Club Chair<br>31"W x 31"L x 34"H   | 4    | \$200.00          | Т  | \$2,400.00 |
|             | Ottomans - Hollywood - Light Grey W/ Brass Base<br>Emerald Green covers<br>16"Diam x 18"H  | 6    | \$40.00           | Т  | \$720.00   |
|             |  |      | Total Middle Room |    | \$8,360.00 |
| Back Room   |  |      |                   |    |            |
|             | Banquettes - Pasadena - Straight Ivory W/ Skirt 6'<br>Banquettes - Pasadena - Straight 6' - Emerald Green<br>velvet<br>6'W x 39"L x 30"H | 2    | \$300.00          | Т  | \$2,400.00 |
|             | Banquettes - Pasadena - Straight Ivory W/ Skirt 6'   | 1    | \$300.00          | т  | \$900.00   |
|             | Drape Stock to Cover Part of this room in Emerald Green<br>Velvet<br>AProx 60 x 12'H w/ Valance  | 1    | \$1,000.00        | Т  | \$4,000.00 |
|             | Booths - Built In Channeled Booth<br>Wood Painted Mahogany - Fabric On sofas Green<br>8'W x 4'D x 3'H   Seat Height 19"   Seat Depth 17" | 3    | \$600.00          | Т  | \$7,200.00 |

| Description    |   | Qtty | Price             |      | Total       |
|----------------|---|------|-------------------|------|-------------|
| T              | Small Dining Tables - Manchester - Dark Wood<br>36â® Irnd x 30â® IH   | 3    | \$250.00          | Т    | \$750.00    |
|                |   |      | Total Back Room   |      | \$15,250.00 |
| other Elements |   |      |                   |      |             |
|                | Chandeliers - Brussels - Palm Tree<br>33"W x 30"H - 24lb - 150 Watts  | 3    | \$400.00          | Т    | \$4,800.00  |
|                |   |      | Total other Eleme | ents | \$4,800.00  |
| Additions      |   |      |                   |      |             |
|                | Coffee Tables - Fiji - Glass Top & Wood<br>33⤠® Diam 16⤠® H   | 2    | \$150.00          | Т    | \$900.00    |
| T              | Coffee Tables - Round Drum Mango Wood<br>27"1/2 Diam x 19"1/2H  | 2    | \$150.00          | Т    | \$900.00    |
|                | Coffee Tables - Shanghai - Mango Light Wood   | 2    | \$200.00          | Т    | \$1,200.00  |
| M              | 32" x 32" x 19"H  |      |                   |      |             |
|                | Coffee Tables - Madrid - 3pc Set<br>48"W x 20"L x 19"h  | 1    | \$195.00          | Т    | \$195.00    |
|                | Coffee Tables - Fiji - Wood & Brass<br>52" W x 32"D x 16"H  | 2    | \$250.00          | Т    | \$500.00    |
|                | Club & Lounge Chairs - Toulouse - Club Chair - Green<br>Velvet 2<br>30"W x 28"L x 36"H  | 1    | \$180.00          | Т    | \$540.00    |
|                | Club & Lounge Chairs - Toulouse - Club Chair - Green<br>Velvet 1<br>30"W x 28"L x 38"H  | 1    | \$180.00          | Т    | \$540.00    |
|                | Club & Lounge Chairs - Toulouse - Accent Chair - Green<br>Velvet  | 2    | \$180.00          | Т    | \$1,080.00  |
| F              | 29"W x 30"L x 37"H<br>Club & Lounge Chairs - Mango Wood Chair W/ Linen<br>Cushions & Brass Capped Feet & Armrests<br>26"W x 32"D x 33-1/2"H | 4    | \$250.00          | Т    | \$3,000.00  |
|                |   |      | Total Additions   |      | \$8,855.00  |
| Services       |   |      |                   |      |             |
|                | Delivery Crew   | 6    | \$550.00          |      | \$3,300.00  |

| Description   | Qtty | Price    | Total      |
|---|------|----------|------------|
| Strike Crew   | 6    | \$550.00 | \$3,300.00 |
| Transportation  | 2    | \$350.00 | \$700.00   |
| Delivery Crew and Strike                                  | 2    | \$650.00 | \$1,300.00 |
| Crew to Install - Strike and re install Drape at entrance | 1    | \$500.00 | \$500.00   |

| Please make checks payable to Revelry, Inc.  | Total Products:            | \$53,315.00   |
|--|----------------------------|---------------|
| Note: Drive to delivering and nick upp all invaigns must be pay in full  | Total Labor/Services/Misc: | \$9,100.00    |
| Note: Prior to deliveries and pick-ups all invoices must be pay in full<br>Please ready the contract and sign it | Wear & Tear (4.00%):       | \$1,953.12    |
|  | Packing (2.00%):           | \$976.56      |
| Notes<br>Currently Due : 50% Dependent (\$27,222,85)   | Taxes :                    | \$4,638.66    |
| Currently Due : 50% Deposit. ( \$27,333.85)  | Discounts:                 | (\$4,487.00)  |
|  | Total:                     | \$65,496.34   |
|  | Payments:                  | (\$27,333.85) |
|  | Balance:                   | \$38,162.49   |